
I have kept data only for Uttar Pradesh. 
 
My code: 
 
Keep if v024==33 
gen swt = sv005/1000000 
tab m15_1 [iweight=swt] 
 
 
Output: 

 
 
Table in report: 

 

. 

                                  Total  28,619.105      100.00

                                  other  96.5287759        0.34      100.00
           ngo or trust hospital/clinic  92.7992571        0.32       99.66
   other private sector health facility  224.667666        0.79       99.34
private: hospital/maternity home/clinic  6,846.1048       23.92       98.55
    other public sector health facility 49.14604345        0.17       74.63
                     public: sub-centre  387.489411        1.35       74.46
             public: phc/additional phc  1,494.1233        5.22       73.11
   public: chc/rural hospital/block phc  6,956.9012       24.31       67.89
                   public: uhc/uhp/ufwc  303.327265        1.06       43.58
               public: govt. dispensary  249.640189        0.87       42.52
          public: govt./munic. hospital  3,410.8308       11.92       41.64
                          parents' home  466.237493        1.63       29.73
                             other home 97.11646232        0.34       28.10
                      respondent's home  7,944.1921       27.76       27.76

                      place of delivery       Freq.     Percent        Cum.


